EARAROBREBRT —5 XN—ZXBISH—F 20245118248 (B) 7EKIR4E

(PR E E)IIKEEH YS5R3m%EOP BRI
[AXE%) 1 & :3,500,000 F ~ 23%&:1,225,000  337%:700,000 4 3#&:455,000 5 i&:245,000 9
B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Sk w R 3 | B 2:47.0 1-1-1-1 | 40.2| - 3 | 43 |PEIIE KR
115|573 by TFFy R " 55.0 (—) © | @ bvForoo
RE—FNRO— B:HIShyFIALY =
X R =i . _4-9— — WRIESZAI KR)
2 5 | /= TNHI—Y 10 | F 2.(437).5 5-4-2-2 | 39.4 1 (i?g) A 7
RAVIRSAY B:JO0RTA/N\—h NYERTZ—LA
o R ROB— : —7-4- - FRER (KR
3(7] 9| T RET 990 - I P R
R:O0—RApFrO7 B:FUHFRFIY =]
- N LLASEER . _c_ A — BHZ KR
41|10 FLA LY 4YT2 =7y a7 I I Yl |
R:N«(40 B:LyRITzHY— S—L— - IvIN - T7—LBRER
= N # 5 | LIAERE 2:48.8 7-8-7-6 | 40.1| - 2 | s00 |{EEEE— (KR
5|8{1| =17 57.0 (1172 o | BliES
RiF4—=TFAVNITN B:SATIAFv—LA BREEMt IZXAT«4T7—LA
N s Y 6 | ERRE 2:49.2 4-5-8-7 | 40.3| — 7 495 | EBEE— (OKR)
6 3 N A AVAVE = 57.0 2 1/2) w2 | SIS
RIFEVIARANAN BRI—LF+TFF+ FRERS
o it 7 | ERAEE 2:49.2 10-10-10-8 | 39.7 | — 8 471 | EBEEE— (KR)
" 1 PRS2V g 5.0 ) Ga) | I L=YVT @)
RiPAIWNTTFH— B:h—DT+—T/N— AERIY R
8 6| NV IS—F )L o6 E;Jé%’ 2:%0).2 3-3-3-5 |42.3| - 6 (4991) ;ﬁ;g GKR)
RT—IVRI—Z B:FUR—~IL P esg
5 | EAEER 2:50.8 1-9-9-9 |41.7| — | 10 | 508 |{EBHE (KR
9|78 |~N¥FKRT # 57.0 7 @5 | (B MIRAI
RiboPO—ILR B:RAATSRY N IRV T 7=
N W v 6 | AHHE 2:55.2 8-10-11-11 | 45.0 | — " 451 | #BRAD (BEM)
EH 7| UV AY 70 50 (94) ¢a) | I¥IE @)
Rih—tYS— B:hLYYE—L #HBT7—L
=k . _9—f — BAARES] (KR
11111 ARV AKNUT "7 257..0 2'(596)'7 2267101 48.9 ’ (5:)75) E=piliES oo
RN—=RZNY B4V UTa EvIUy RI7—LA
@ 1—F—&RIEL
13—7F— 5,1,6,3,2,10,11, (7,9) ,4,8
20—F— 5,1,6,2, (3,10),9,11,8, (4,7)
30—— 5,2,6,(9,10),1,11,3,8,4,7
451—rh— 5,2,10,9,6,11,3,4,8,1,7
o ILRE
BB 5 510 | | 91k 2-5 400M % 3E 2-5 1,120M 3EE 2-5-9 2,240
B B 5 200 5-9 5201 5 E 2-5 960M 3EH 5-2-9 13,090/
2 1509 2-9 420M Ba 5-2 2,690
9 170/

ABIC OV TRUTEREERRODDZE. THRIIZEL.




